The parent Tangent Function:

y

y = Tanx

Period = 11

Partent Function
Graph moves
up and to the right

Write the equation of this Tangent Function
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y = aTan(bx)
a: If a<0 there is an x-axis reflection ——p

b: The period of Tanbx = RT

= W
" period

Write the equation of this Tangent Function which is a
tranformation of the function y = 6Tanx
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Find three VA and three x-intercepts for this Tangent
Function:
= —4Tan7x
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You can now complete Homework #12

Sec 13-6 Due tomorrow
Page 752

Problems 9,10,(12, 13}(23,24,)39,40

Just find the period

Find the period,
2 VA, and 2 x-int

Find three VA and three x-intercepts for this Tangent

Function:
= 8Tan-2x
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The numbers from 1 to 20 are in a bag. You will randomly pull out a number.

In your refrigerator are the following drinks: 8 bottles of water,
Give each probability as a fraction without reducing.

5 bottles of Coke, and 7 bottles of Gatorade.

(/ g Find each probability as a fraction without reducing.
1. P( > 2. P(factor of 36) = — -~ 1. You randomly grab a bottle and drink it then randomly grab another

C_D 36 one, etc.
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